EARAROBEEIERT — 2 N— IBISH —F

20135108170 (K) 15@EZHE3H

mt L7 hd—IL K (FRTBE) H7R2K \ (X4l W \ (Emm]  — | & (%) 14000 TRE
[A&4£] 1 7 :2,500,000 23 :625,000 @ 33 :250,000  ~ 4 3% :150,000 @ . 5 7 :100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . . S :30. 02— . — R (BHE)
117 9 —4—ZTKR— K 4 2 ?5.0 1(3_0)3 2-2-2-2 | 38.8 1 (11(152) Elll%}éjc
R:TFyIR—Y BEAXTYIZa— EENS
o = . —7-0— = a—
71 3 RIEE R 2 | ZAR 1.(361).6 8-7-9-6 | 39.4 8 | 4% g%g A (BEB)
R:T—NFAYLF— BiZy h—F1F> 19 | ya—y—7r-n
—_ o 1ERERA : -3-3- — AHEt (BHE)
slil1|7z=vo28—2 42 e 1(.13/12.>7 3-3-3-3 |39.9 8 ;1_421) e
RAZHNTIZy IR B:o>97y 7097y miE ®E
Q # 2 | ALE— 1:31.8 1=1-1-1 | 40.3| — 5 40 | FILEE (BHE)
4 4 TILAN 54.0 (3/4) (+1) ﬁJ”IE)SE
RTINFINTL2 BTIAN—NEA L Eilz e
. . s 2 | LB 1:32.0 10-10-8-8 | 39.8 | — 4 07 |BTB-8 (BHR)
5/5|5| YT Fv> 0 (3/4) (o) |EAIHE
L4 AT Ly h— BEFZFIEILL [ cpae]
# 2 | SHEX 1:32.0 4-4-4-5 |40.2| — | 7 | 461 |BORK (BHE)
68|12 =KV IIL—I 54.0 (757) 4y | REBE ()
RS TNRTy N B h—FTTTY e =hH
o2 | BEEX 1:32.2 7-6-5-4 | 40.5| — 2 4 | AEEL (BHE)
7(2|10| ¥~ 11010 0 (3/4) o) | AVEE
LT R2A4YT vy BRZ—hH— FHBSE
P B2 | KA 1:32.2 12-11-7-9 | 39.5 | — 10 | 410 |B7K—5 (BHE)
8 glLyYHLZ A51.0 (F4<) #3) | W Yraung2
LIA YT BIXZAT Fll #Eth
N . = FRINARI :32. -9-10- . — BriE—A (BEE)
olgl1y| EIF>HLT i 2 XA 1(312)4 9-9-10-10 | 39.9 6 ig)z A
R:agrhr7 B:7X2y bEI— E gk
= = 8 2 | BERA 1:32.6 6-8-6-7 |40.4| — 11 443 | ETIB—2 (BHE)
10 2 KyZ4F7>0 54.0 (1 1/2) Ly |BERET
R:v07% BiAIIAIRS bt e
LR 42 | AEFBERE 1:33.0 5-5-11-11 | 41.0 | — 3 457 | AEEL (BHE)
Il - FAREEZYARA 55.0 @ (13) |WLEFR
LA FNELT b BHELTHAHE i <
RS 4 2 | DNEEAIAE 1:34.0 1-12-12-12| 41.1 | — 12 | 411 |BEEA (BHE)
125/6| 7~ F7H0~ 54.0 (5) Cy | &) w=257
R h—AKIILARS— B:ZE—KI70O AE—FIT—L
@ 1—F—@&BIEf
13=7r= 4,9,1,12,7,2,10,3,11,5,6,8
Aol=5r= 4,9,1,12,7,10,3,2,11,5,8,6
G§a=7r= 4,9,1,12,10,2,8,5,3,11,7,6
41 —F— 4,9,1,10,12,3,2,5,8,11,7,6
[ RN
B OB 9 100M 714K 3-9 810M e & 3-7 1,020M &R 1-3-9 22,840H
% B 9 110 1-9 1,310 | | B & 3-9 1,570 | | 38 9-3-1 52,290
3 240H 1-3 14,810H B H 9-3 2,130M
1 1,150

ABICOVWTRDTEEERROODE. TR LIV,




